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Macbeth Model Answers



Grade 9: Level 6 = 30 marks; AO4 = 4 marks

This response begins in level 5 with an 
examination of the effect of the line 
‘smoked with bloody execution’ which is 
very detailed and effective. By the third 
paragraph the focus on task is becoming 
thoughtful as the details used to respond to 
the task are increasingly used to support the 
ideas the candidate has selected to focus 
on. The handling of loyalty and violence 
demonstrate real focus on ideas and move 
the response clearly into level 5 by the end 
of this paragraph. As the candidate moves 
out to the text as a whole their focus 
becomes exploratory in response to the task 
and to the text. Focus on ideas about 
violence root the response clearly in level 6 
for AO3, and the analysis of Macbeth’s 
language are linked to an exploration of 
their effects. Overall, this is a very good 
example of a response working that 
achieves all level 6 by the end.



Grade 9: Level 6 = 30 marks; AO4 = 4 marks

This response begins in level 5 with an 
examination of the effect of the line 
‘smoked with bloody execution’ which is 
very detailed and effective. By the third 
paragraph the focus on task is becoming 
thoughtful as the details used to respond to 
the task are increasingly used to support the 
ideas the candidate has selected to focus 
on. The handling of loyalty and violence 
demonstrate real focus on ideas and move 
the response clearly into level 5 by the end 
of this paragraph. As the candidate moves 
out to the text as a whole their focus 
becomes exploratory in response to the task 
and to the text. Focus on ideas about 
violence root the response clearly in level 6 
for AO3, and the analysis of Macbeth’s 
language are linked to an exploration of 
their effects. Overall, this is a very good 
example of a response working that 
achieves all level 6 by the end.



Grade 7: Level 5 = 22 marks; AO4 = 4 marks

This response moves into level 
5 for the way the candidate has 
responded to the task overall, 
and how their focus on ideas 
enables them to develop some 
considered comments. There is 
clear knowledge of the play as a 
whole and the focus on 
attitudes towards the 
supernatural is sustained 
throughout. In order to move 
into a more secure level 5, 
perhaps this candidate might 
want to focus more on some of 
the ways in which Shakespeare 
presents ideas.



Grade 5: Level 4 = 16 marks; AO4 = 4 marks

This response is a good example of an 
‘explained’ response in terms of how the 
candidate has approached the task. The 
focus is very much on the task as a whole, 
with evidence that the candidate knows 
the whole play and makes several 
references to areas of the play outside of 
the extract. These references are relevant 
and clearly linked to the task. Comments 
on references are relevant to the task, and 
the candidate identifies the effects of 
some deliberate choices, such as the 
identification of the effect of the sword 
that ‘smoked with bloody execution’. By 
the end of the response the focus on the 
task and the text has been consistent 
enough to warrant a mark at the bottom 
of Level 4. One area that this candidate 
might want to focus on is being a bit more 
explicit about ideas, perhaps thinking 
about the idea of ‘violence’ a touch more.



A Christmas Carol Model 
Answers



Grade 9: Level 6 = 27 marks

This is a confident, exploratory 
response to the task as a 
whole. The candidate has an 
extremely strong understanding 
of the ideas behind the text and 
uses these to develop their 
argument and illustrate with 
some very apt references. Ideas 
and organisation drive the 
strength of this essay, in 
particular the treatment of 
ideas in the third paragraph, 
and in order to secure the 
whole of level 6 it would be 
great to see some analysis of 
aspects of writer’s craft.



Grade 7: Level 5 = 23 marks

This response is clear and 
explanatory throughout, and 
moves into level 5 for the use 
of references in the third 
paragraph as well as the 
consideration of ideas and 
perspectives that enable the 
response to task to also move 
into level 5. This candidate 
therefore is stronger on AO1 
and AO3 than on AO2, and 
would find it useful to 
develop their focus on 
aspects of writer’s methods.



Grade 5: Level 4 = 16 marks

This response takes an explanatory 
approach to the task and to the whole 
text. They remain focused on how the 
ghosts help Scrooge to change 
throughout, which is why by the end of 
the response the level of consistency in 
terms of focus on task moves the mark 
into the start of Level 4. References to the 
text, both directly from the extract and 
also from the wider text, are used to 
support a range of relevant comments. 
Ideas are rooted in the text, so therefore 
implicit rather than bolted on, and the 
treatment of the effect of ‘Ignorance and 
Want’ is a good example of an 
identification of an effect. In order to 
improve, it would be really useful for this 
candidate to start to link their comments 
on methods to the ideas in the text a 
touch more explicitly.



An Inspector Calls Model 
Answers



Grade 9: Level 6 = 30 marks; AO4 = 4 marks

This is a confident, fluent response 
that demonstrates a thorough 
understanding of the ideas in the 
play and presents a clear 
exploration of the character of 
Sheila. The treatment of the task is 
convincing in its range of 
illustrations of how Sheila is shown 
to change, therefore securing L6 for 
AO2 with its subtle demonstration 
of characterisation throughout. 
Moments from the play are selected 
judiciously as illustration of the 
ideas being explored, and this 
response overall merits the 
maximum amount of marks 
available for this question.



Grade 7: Level 5 = 21 marks; AO4 = 4 marks

This is a very clear and sustained 
response to the idea of selfishness 
in the play. The candidate uses a 
range of characters and events to 
illustrate their points and has a clear 
understanding of the ideas in the 
play. The references are very useful 
indeed as support for the range of 
relevant comments, and the way 
that both Eric and Gerald are used 
as examples of Eva / Daisy’s 
treatment at the hands of the 
higher classes is where this 
response starts to tip into level 5 for 
response to task. In order to 
develop, this candidate might want 
to start focusing a bit more closely 
on writer’s purpose and overall 
ideas.



Grade 5: Level 4 = 16 marks; AO4 = 3 marks

This is a good example of an explained 
response to the task that becomes clear and 
consistent by the end with the repeated 
focus on selfishness. There are a range of 
relevant comments and also relevant 
references to the text, both in the form of 
direct quotations and other clear pointers 
towards relevant moments. The comments 
on these references are linked to the task 
and demonstrate that the candidate is using 
them to support what they are saying in 
response to the question. AO2 is addressed 
via talking about the text as something 
conscious, such as the way Sheila ‘cuts her 
dad off’ and also the treatment of the 
engagement ring as symbolic. The response 
lifts into level 4 by the end, and it would be 
really useful for this candidate to focus on 
explaining why their references and their 
comments on methods support their ideas 
in response to the question in order to 
make further level 4 progress.



Power and Conflict 
Poetry Model Answers



Grade 9: Level 6 = 30 marks

This is a conceptualised 
response in terms of the 
way that the candidate has 
a central thesis about 
power and uses both poems 
to illustrate and exemplify 
their ideas. The use of 
specific references is 
continually skilful and 
extremely judicious in 
selection, and the analysis 
of methods is blended 
seamlessly into an 
exploration of the ideas 
presented in both poems.



Grade 7: Level 5 = 20 marks

The first four paragraphs deal with War 
Photographer, showing some 
explained response to the poem and 
using relevant references. By the time 
the candidate has connected this 
poem with Remains in terms of an idea 
with the comment ab out ‘innocence 
affecting judgement and morality’, 
they have secured level 3 for response 
to task and this enables them to start 
to use supporting references more 
effectively and start to really focus on 
ideas. They use the treatment of 
‘blood’ in the poems to present a clear 
explanation of how methods link to 
meanings. One way this candidate 
might improve could be to focus more 
on ideas / themes from the start and 
therefore root all of their comments in 
a more developed way.



Grade 5: Level 4 = 16 marks

This is a clear response to the task 
with both poems being used to 
support the comments made about 
how people are affected by war. The 
candidate selects relevant moments 
from both poems, both indirectly 
and through direct references, to 
support the points being made. The 
comparison is structured via 
methods which isn’t always the 
most useful way of developing an 
overview and might be an area for 
development for this candidate. 
Overall however, the range of points 
linked to the idea presented by the 
question moves this response into 
the bottom of level 4 for ‘sustained’ 
response to task.



Unseen Poetry Q1 Model 
Answers



Grade 9: Level 6 = 24 marks

This is a really exploratory 
approach to the question. This 
candidate has a thorough 
understanding of the ideas in 
the poem and presents their 
response through the 
selection of really precise and 
judicious references. The 
treatment of methods is skilful 
and very precise and linked all 
the time to the assured sense 
of a deep understanding of the 
overall meaning and ideas in 
the poem, which enables this 
candidate to achieve the 
maximum mark available for 
this question.



Grade 7: Level 5 = 17 marks

This response presents a clear 
understanding of the poem 
which is supported with lots of 
details. There is engagement 
with the main idea of the poem 
throughout, and there is also a 
flash of moving into level 5 in 
the second paragraph where 
the comparison of the two 
images starts to become an 
examination of method. Overall 
this is what moves the response 
into the start of level 5 overall, 
and this candidate would 
benefit from focusing more 
closely on writer’s methods in 
this way in order to move 
further into level 5.



Grade 5: Level 4 = 13 marks

There is clear awareness 
of ideas here in the way 
the candidate has 
approached this task. 
There is a sense of 
explaining how the poem 
shows ideas about living 
life, and references are 
appropriate and relevant 
to the comments being 
made. Overall the 
response to task becomes 
clear by the end, which is 
why the mark awarded is 
into level 4.



Unseen Poetry Q2 Model 
Answers



Level 4 = 8 marks
This candidate presents an 
exploratory comparison of 
the presentation of ideas in 
the two poems. The 
response is completely 
focused on how both 
writers present their ideas, 
therefore addressing the 
AO2 focus of the task which 
is methods to create 
meanings. This is a 
sophisticated and 
convincing comparison, at 
the top of the threshold for 
GCSE performance and well 
worthy of the maximum 
mark for this task.



Level 3 = 6 marks
This is a thoughtful 
comparison of the two 
poems because the 
candidate understands the 
ideas in both and has made 
a clear connection in terms 
of methods. The selections 
of methods are very useful 
as a way of building a 
comparison and overall this 
is a thoughtful, developed 
response to the task.



Level 2 = 4 marks
This response focuses on 
two methods: structure and 
form. Both of these are 
entirely appropriate in 
terms of how they are used 
to demonstrate shared 
ideas within the context of 
the question, and the 
candidate therefore makes 
a clear comparison of 
methods and is awarded a 
mark at the top of level 2 
for clearly explaining the 
ways that methods are used 
to create meanings in both 
poems. In order to move 
into the next level, further 
development of the 
comparative connections 
between both poems would 
help this candidate.


